

TATRA MOUNTCINS Mathematical Publications DOI: 10.2478/v10127-011-0004-6 Tatra Mt. Math. Publ. 48 (2011), 41-49

HALF-LINEAR EULER DIFFERENTIAL EQUATIONS IN THE CRITICAL CASE

Ondřej Došlý — Hana Haladová

ABSTRACT. We investigate oscillatory properties of the perturbed half-linear Euler differential equation

$$(\Phi(x'))' + \frac{\gamma_p}{t^p} \Phi(x) = 0, \quad \Phi(x) := |x|^{p-2}x, \quad \gamma_p := \left(\frac{p-1}{p}\right)^p.$$

A perturbation is also allowed in the coefficient involving derivative.

1. Introduction

The half-linear Euler differential equation

$$(\Phi(x'))' + \frac{\gamma}{t^p} \Phi(x) = 0, \quad \Phi(x) := |x|^{p-2} x, \qquad p > 1, \ \gamma \in \mathbb{R},$$
 (1)

is one of a few half-linear second order differential equations which can be solved explicitly. Similarly to the linear case p = 2, if we look for a solution of (1) in the form $x(t) = t^{\lambda}$ substituting into (1), we find that λ has to be a solution of the algebraic equation

$$(p-1)\Phi(\lambda)(\lambda-1) + \gamma = 0,$$

see also [5]. The function $F(\lambda) := (p-1)\Phi(\lambda)(\lambda-1)$ has a global minimum at $\lambda^* = \frac{p-1}{p}$ and the value of this minimum is $F(\lambda^*) = -\gamma_p := -\left(\frac{p-1}{p}\right)^p$. Consequently, the equation $F(\lambda) + \gamma = 0$ has two real roots if $\gamma < \gamma_p$, one double real root if $\gamma = \gamma_p$, and no real root if $\gamma > \gamma_p$.

Equation (1) is a particular case of the general half-linear second order differential equation

$$(r(t)\Phi(x'))' + c(t)\Phi(x) = 0,$$
 (2)

^{© 2011} Mathematical Institute, Slovak Academy of Sciences.

²⁰¹⁰ Mathematics Subject Classification: 34C10.

 $Keywords:\ half-linear\ differential\ equation,\ asymptotic\ formula,\ principal\ solution.$

Research supported by the grants P201/10/1032, P201/11/0768 of the Grant Agency of the Czech Republic and the Research Project MSM0021622409 of the Ministry of Education of the Czech Republic.

where r, c are continuous functions and r(t) > 0. It is known that oscillation theory of (2) is almost the same as this theory for the second order Sturm--Liouville linear differential equation

$$(r(t)x')' + c(t)x = 0$$
(3)

which is a special case p = 2 in (2). In particular, all solutions of (2) are either oscillatory or nonoscillatory, see [3]. This means, in particular, that (1) is nonoscillatory if and only if $\gamma \leq \gamma_p$. Also, equation (1) with the critical coefficient $\gamma = \gamma_p$ serves as a comparison equation for the Kneser-type (non)oscillation test which states that (2) with r(t) = 1 is oscillatory provided

$$\liminf_{t \to \infty} t^p c(t) > \gamma_p$$

and nonoscillatory if

$$\limsup_{t \to \infty} t^p c(t) < \gamma_p.$$

The Kneser test does not apply when $\lim_{t\to\infty} t^p c(t) = \gamma_p$ and this situation is the principal concern of our paper.

2. Auxiliary results

In a general framework, we suppose that equation (2) is nonoscillatory and we study oscillatory properties of its perturbation

$$\left[\left(r(t) + \tilde{r}(t)\right)\Phi(x')\right]' + \left(c(t) + \tilde{c}(t)\right)\Phi(x) = 0.$$
(4)

We suppose that the perturbation terms \tilde{r}, \tilde{c} are continuous functions such that $r(t) + \tilde{r}(t) > 0$ for large t.

Let x be a solution of (2) such that $x(t) \neq 0$, then $w = r\Phi\left(\frac{x'}{x}\right)$ is a solution of the Riccati type differential equation

$$w' + c(t) + (p-1)r^{1-q}(t)|w|^q = 0, \qquad q := \frac{p}{p-1}.$$

In our research, an important role plays the concept of conditionally oscillatory half-linear equation. Following [3], equation (2) with $\lambda c(t)$ instead of c(t) is said to be *conditionally oscillatory* if there exists a constant λ_0 such that this equation is oscillatory for $\lambda > \lambda_0$ and nonoscillatory for $\lambda < \lambda_0$. The constant λ_0 is called the *oscillation constant* of (2). A typical example of a conditionally oscillatory equation is just Euler equation (1) and its oscillation constant is $\lambda_0 = \gamma_p$.

Here we will deal with conditionally oscillatory half-linear equations in a more general sense. We will consider the equation of the form

$$\left[\left(r(t) + \lambda \tilde{r}(t)\right)\Phi(x')\right]' + \left(c(t) + \mu \tilde{c}(t)\right)\Phi(x) = 0$$
(5)

HALF-LINEAR EULER EQUATION

and we say that (5) is conditionally oscillatory if there exist constants $\alpha, \beta, \omega \in \mathbb{R}$, $\alpha \neq 0, \beta \neq 0$, such that (5) is oscillatory for $\alpha\lambda + \beta\mu > \omega$ and nonoscillatory for $\alpha\lambda + \beta\mu < \omega$. A typical example of conditionally oscillatory equation with two parameters is perturbed Euler equation (1) with the critical coefficient γ_p

$$\left[\left(1+\frac{\lambda}{\log^2 t}\right)\Phi(x')\right]' + \left[\frac{\gamma_p}{t^p} + \frac{\mu}{t^p\log^2 t}\right]\Phi(x) = 0.$$
(6)

It is proved in [2] that (6) is oscillatory if $\mu - \lambda \gamma_p > \mu_p := \frac{1}{2} \left(\frac{p-1}{p}\right)^{p-1}$ and nonoscillatory if $\mu - \lambda \gamma_p < \mu_p$. It was conjectured in [2] that (6) is nonoscillatory also in the limiting case

$$\mu - \lambda \gamma_p = \mu_p \,. \tag{7}$$

In our paper we prove that this conjecture is true. We also discuss some general aspects of the problem.

Next we derive the modified Riccati equation in a more general setting than in [2]. Let $h(t) \neq 0$ be a positive differentiable function, denote

$$G(t) := r(t)h(t)\Phi(h'(t))$$
(8)

and let

$$\Omega(t) := \left(1 + \frac{\tilde{r}(t)}{r(t)}\right) G(t).$$

Define the function

$$\mathcal{G}(t,z) := |z + \Omega(t)|^q - q\Phi^{-1} \big(\Omega(t)\big) z - |\Omega(t)|^q, \tag{9}$$

where $\Phi^{-1}(x) = |x|^{q-2}x$ is the inverse function of Φ , and put

$$z := h^p(w - w_h) - \frac{\tilde{r}}{r}G = h^pw - G - \tilde{G},$$

where w is a solution of the Riccati equation associated with (4)

$$w' + c(t) + \tilde{c}(t) + (p-1)(r(t) + \tilde{r}(t))^{1-q} |w|^q = 0,$$

 $w_h = r\Phi(\frac{h'}{h})$, and $\tilde{G} = \tilde{r}h\Phi(h')$. Then z is a solution of the equation

$$z' + C(t) + (p-1)(r(t) + \tilde{r}(t))^{1-q} h^{-q}(t) \mathcal{G}(t,z) = 0,$$
(10)

where

$$C(t) = h(t) \left[\left(\left(r(t) + \tilde{r}(t) \right) \Phi(h'(t)) \right)' + \left(c(t) + \tilde{c}(t) \right) \Phi(h(t)) \right].$$
(11)

43

ONDŘEJ DOŠLÝ – HANA HALADOVÁ

Indeed, by a direct computation we have

$$\begin{split} z' &= p\Phi(h)h'w + h^{p}w' - r|h'|^{p} - h(r\Phi(h'))' - \tilde{r}|h'|^{p} - h(\tilde{r}\Phi(h'))' \\ &= p\Phi(h)h'w + h^{p} \Big[-(c+\tilde{c}) - (p-1)(r+\tilde{r})^{1-q}|w|^{q} \Big] \\ &- (r+\tilde{r})|h'|^{p} - h \Big[(r+\tilde{r})\Phi(h') \Big]' \\ &= p\frac{h'}{h}(z+G+\tilde{G}) - (r+\tilde{r})|h'|^{p} - h \Big[((r+\tilde{r})\Phi(h'))' + (c+\tilde{c})\Phi(h) \Big] \\ &- (p-1)h^{p}(r+\tilde{r})^{1-q} \left| h^{-p}z + w_{h} + \tilde{r}\Phi\left(\frac{h'}{h}\right) \right|^{q} \\ &= -h \Big[((r+\tilde{r})\Phi(h'))' + (c+\tilde{c})\Phi(h) \Big] - (p-1)(r+\tilde{r})^{1-q}h^{-q} \\ &\times \Big\{ |z+\Omega|^{q} - \frac{p}{p-1}h'(r+\tilde{r})^{q-1}h^{q-1}z - (r+\tilde{r})^{q}h^{q}|h'|^{p} \Big\} \\ &= -h \Big[((r+\tilde{r})\Phi(h'))' + (c+\tilde{c})\Phi(h) \Big] \\ &- (p-1)(r+\tilde{r})^{1-q}h^{-q} \Big\{ |z+\Omega|^{q} - q\Phi^{-1}(\Omega)z - |\Omega|^{q} \Big\}. \end{split}$$

Note that in contrast to [2] we do not suppose that h is a solution of (2), so the extra term

$$h[(r\Phi(h'))'+c\Phi(h)]$$

appears in the definition of the function C in (11).

We will also need the following statement which is a slight modification of [2, Theorem 3] (here we do not require that the function h is a solution of (2)). So we omit its proof since it is the same as that of [2, Theorem 3] and it based on the fact that solvability of (10) implies nonoscillation of (4).

THEOREM 1. Let h be a positive differentiable function such that $h'(t) \neq 0$ for large t. Denote

$$R(t) = (r(t) + \tilde{r}(t))h^{2}(t)|h'(t)|^{p-2}, \qquad (12)$$

and suppose that

$$\int_{0}^{\infty} \frac{dt}{R(t)} = \infty, \quad \int_{0}^{\infty} C(t) \, dt \quad is \ convergent,$$

where C is given by (11), and

$$\liminf_{t\to\infty} (r(t) + \tilde{r}(t))h(t)|h'(t)|^{p-1} > 0.$$

If

$$\limsup_{t \to \infty} \int_{0}^{t} \frac{ds}{R(s)} \int_{t}^{\infty} C(s) \, ds < \frac{1}{2q} \tag{13}$$

and

$$\liminf_{t \to \infty} \int_{0}^{t} \frac{ds}{R(s)} \int_{t}^{\infty} C(s) \, ds > -\frac{3}{2q},\tag{14}$$

then equation (4) is nonoscillatory.

3. Equation (6) in the limiting case

Now we can prove the main result of our paper.

THEOREM 2. Suppose that (7) holds. Then the perturbed Euler equation with the critical coefficients (6) is nonoscillatory.

Proof. We rewrite (6) into the form

$$\left[\left(1+\frac{\lambda}{\log^2 t}\right)\Phi(x')\right]' + \left[\frac{\gamma_p}{t^p} + \frac{\mu_p}{t^p\log^2 t} + \frac{\mu-\mu_p}{t^p\log^2 t}\right]\Phi(x) = 0$$
(15)

and we use the previous computation with

$$r(t) = 1, \ \tilde{r}(t) = \frac{\lambda}{\log^2 t}, \ c(t) = \frac{\gamma_p}{t^p} + \frac{\mu_p}{t^p \log^2 t}, \ \tilde{c}(t) = \frac{\mu - \mu_p}{t^p \log^2 t}, \ h(t) = t^{\frac{p-1}{p}} \log^{\frac{1}{p}} t.$$

We have

$$h' = \frac{p-1}{p} t^{-\frac{1}{p}} \log^{\frac{1}{p}} t + \frac{1}{p} t^{-\frac{1}{p}} \log^{\frac{1}{p}-1} t = \frac{p-1}{p} t^{-\frac{1}{p}} \log^{\frac{1}{p}} t \left(1 + \frac{1}{(p-1)\log t}\right),$$

$$\Phi(h') = \left(\frac{p-1}{p}\right)^{p-1} t^{-\frac{p-1}{p}} \log^{\frac{p-1}{p}} t \left(1 + \frac{1}{(p-1)\log t}\right)^{p-1},$$
and

а

$$\begin{split} \left(\Phi(h')\right)' &= \left(\frac{p-1}{p}\right)^{p-1} \left[-\frac{p-1}{p} t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \left(1 + \frac{1}{(p-1)\log t}\right)^{p-1} \right. \\ &+ \frac{p-1}{p} t^{-2+\frac{1}{p}} \log^{-\frac{1}{p}} t \left(1 + \frac{1}{(p-1)\log t}\right)^{p-1} \\ &- t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \log^{-2} t \left(1 + \frac{1}{(p-1)\log t}\right)^{p-2} \right] \end{split}$$

ONDŘEJ DOŠLÝ – HANA HALADOVÁ

$$\begin{split} &= \left(\frac{p-1}{p}\right)^{p-1} \frac{p-1}{p} t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \left(1 + \frac{1}{(p-1)\log t}\right)^{p-2} \\ &\times \left[-1 - \frac{1}{(p-1)\log t} + \frac{1}{\log t} \left(1 + \frac{1}{(p-1)\log t}\right) - \frac{p}{p-1} \frac{1}{\log^2 t}\right] \\ &= \gamma_p t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \left[1 + \frac{p-2}{(p-1)\log t} + \binom{p-2}{2} \frac{1}{(p-1)^2 \log^2 t} \\ &+ \binom{p-2}{3} \frac{1}{(p-1)^3 \log^3 t} + o\left(\log^{-3} t\right)\right] \left[-1 + \frac{1}{\log t} \left(1 - \frac{1}{p-1}\right) \\ &+ \frac{1}{\log^2 t} \left(\frac{1}{p-1} - \frac{p}{p-1}\right)\right] \\ &= \gamma_p t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \left[-1 + \frac{1}{\log t} \left(-\frac{p-2}{p-1} + \frac{p-2}{p-1}\right) \\ &+ \frac{1}{\log^2 t} \left(-\frac{(p-2)(p-3)}{2(p-1)^2} + \frac{(p-2)^2}{(p-1)^2} - 1\right) + o\left(\log^{-2} t\right)\right] \\ &= \gamma_p t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \left[-1 - \frac{p}{2(p-1)} \frac{1}{\log^2 t} + O\left(\log^{-3} t\right)\right] \\ &= t^{-2+\frac{1}{p}} \log^{\frac{p-1}{p}} t \left[-\gamma_p - \frac{\mu_p}{\log^2 t} + O\left(\log^{-3} t\right)\right], \quad \text{as } t \to \infty. \end{split}$$

Similarly,

$$\begin{split} \left(\frac{\lambda}{\log^2 t}\Phi(h')\right)' &= \lambda \left(\frac{p-1}{p}\right)^{p-1} \left[t^{-\frac{p-1}{p}}\log^{-1-\frac{1}{p}}t\left(1+\frac{1}{(p-1)\log t}\right)^{p-1}\right]' \\ &= \lambda \left(\frac{p-1}{p}\right)^{p-1}t^{-2+\frac{1}{p}}\log^{-1-\frac{1}{p}}t\left[1+\frac{p-2}{(p-1)\log t}+o\left(\log^{-1}t\right)\right] \\ &\times \left[-\frac{p-1}{p}\left(1+\frac{1}{(p-1)\log t}\right)-\left(1+\frac{1}{p}\right)\frac{1}{\log t}\left(1+\frac{1}{(p-1)\log t}\right)-\frac{1}{\log^2 t}\right] \\ &= \lambda \left(\frac{p-1}{p}\right)^{p-1}t^{-2+\frac{1}{p}}\log^{-1-\frac{1}{p}}t\left[1+\frac{p-2}{(p-1)\log t}+o\left(\log^{-1}t\right)\right] \\ &\times \left[-\frac{p-1}{p}-\frac{p+2}{p\log t}+o\left(\log^{-1}\right)\right] \\ &= \lambda \left(\frac{p-1}{p}\right)^{p-1}t^{-2+\frac{1}{p}}\log^{-1-\frac{1}{p}}t\left[-\frac{p-1}{p}-\frac{2}{\log t}+o\left(\log^{-1}t\right)\right] \\ &= \lambda \left(\frac{p-1}{p}\right)^{p-1}t^{-2+\frac{1}{p}}\log^{-1-\frac{1}{p}}t\left[-\frac{p-1}{p}-\frac{2}{\log t}+o\left(\log^{-1}t\right)\right] \\ & \text{ as } t \to \infty. \end{split}$$

Hence, in the limiting case (7) it holds

$$\begin{split} \left[\left(\tilde{r} \Phi(h') \right)' + \tilde{c} \Phi(h) \right] \\ &= t^{-2 + \frac{1}{p}} \log^{-1 - \frac{1}{p}} t \left[-\lambda \gamma_p + \mu - \mu_p - 2\lambda \left(\frac{p-1}{p} \right)^{p-1} \frac{1}{\log t} + o \left(\log^{-1} t \right) \right] \\ &- 2\lambda \left(\frac{p}{p-1} \right)^{p-1} t^{-2 + \frac{1}{p}} \log^{-2 - \frac{1}{p}} t \left(1 + o(1) \right) \quad \text{as} \quad t \to \infty. \end{split}$$

Consequently,

$$\begin{split} h\Big[\left(\tilde{r} \Phi(h') \right)' &+ \tilde{c} \Phi(h) \Big] \\ &= -2\lambda t^{\frac{p-1}{p}} \log^{\frac{1}{p}} t \left(\frac{p}{p-1} \right)^{p-1} t^{-2+\frac{1}{p}} \log^{-2-\frac{1}{p}} t \big(1 + o(1) \big) \\ &= O\Big(t^{-1} \log^{-2} t \Big) \quad \text{as} \ t \to \infty. \end{split}$$

Now we use Theorem 1. In this theorem

$$R = (r + \tilde{r})h^2 |h'|^{p-2} = t \log t (1 + o(1)) \sim t \log t$$

(here $f(t) \sim g(t)$ for a pair of functions f, g means $\lim_{t \to \infty} \frac{f(t)}{g(t)} = 1$),

$$(r+\tilde{r})h\Phi(h') = \left(\frac{p-1}{p}\right)^{p-1} \left(1 + \frac{\lambda}{\log^2 t}\right) \log t \left(1 + \frac{1}{(p-1)\log t}\right)^{p-1} \to \infty \quad \text{as} \quad t \to \infty,$$

and using the previous computations

$$C = h \Big[\big((r + \tilde{r}) \Phi(h') \big)' + (c + \tilde{c}) \Phi(h) \Big]$$
$$= O \Big(t^{-1} \log^{-2} t \Big) \quad \text{as} \quad t \to \infty,$$

i.e., there exists a constant M > 0 such that $|C(t)| \le Mt^{-1} \log^{-2} t$ for large t. Now, by a direct computation

$$\lim_{t \to \infty} \left| \int_{0}^{t} R^{-1}(s) \, ds \int_{t}^{\infty} C(s) \, ds \right| \le M \lim_{t \to \infty} \frac{\log(\log t)}{\log t} = 0,$$

so by Theorem 1 equation (6) with λ and μ satisfying (7) is nonoscillatory. \Box

ONDŘEJ DOŠLÝ – HANA HALADOVÁ

4. Open problems

(i) In equation (6), the functions $\tilde{r}(t) = \frac{1}{\log^2 t}$, $\tilde{c}(t) = \frac{1}{t^p \log^2 t}$ "match together", i.e., for r(t) = 1 and $c(t) = \gamma_p t^{-p}$ they have such asymptotic growth for $t \to \infty$ that equation (6) is conditionally oscillatory. This fact is likely a special case of the general situation which is a subject of the present investigation. More precisely, given the functions r, c, we look for functions \tilde{r}, \tilde{c} with such asymptotic growth that equation (5) is conditionally oscillatory. For $\tilde{r} = 0$, this problem has been studied in [4], where conditions on unperturbed equation (2) are found under which its perturbation

$$(r(t)\Phi(x'))' + \left[c(t) + \frac{\mu}{h^p(t)R(t)(\int_0^t R^{-1}(s)\,ds)^2}\right]\Phi(x) = 0$$

is conditionally oscillatory (and its oscillation constant is $\mu_0 = \frac{1}{2q}$, where q is the conjugate exponent to p, i.e., $\frac{1}{p} + \frac{1}{q} = 1$). Here h is the so called principal solution of (2) and $R = rh^2 |h'|^{p-2}$. The subject of the present investigation is to find an explicit formula for the function \tilde{r} in such a way that together with the function

$$\tilde{c}(t) = rac{1}{h^p(t)R(t) \left(\int_0^t R^{-1}(s) \, ds\right)^2}$$

equation (5) is conditionally oscillatory.

(ii) In [10] the authors establish a "power comparison theorem" for the Riemann-Weber half-linear equation

$$\left(\Phi(x')\right)' + \left[\frac{\gamma_p}{t^p} + \frac{\mu}{t^p \log^2 t}\right] \Phi(x) = 0.$$
(16)

They proved a (non)oscillation criterion for this equation, where this equation is compared with an equation of the same form, but with a different power in the function Φ and other functions and constants appearing in (16). It suggests to investigate a similar problem for the more general equation (6).

(iii) In [1], motivated by the linear case treated in [7], [8], [9], we have investigated oscillatory properties of the equation

$$\left(r(t)\Phi(x')\right)' + \left[\frac{c(t)}{t^p} + \frac{d(t)}{t^p \log^2 t}\right]\Phi(x) = 0$$
(17)

with positive α -periodic functions r, c, d. It was shown, similarly to the case when these periodic functions are constants, that (17) is conditionally oscillatory and an explicit formula for oscillation constants has been found.

HALF-LINEAR EULER EQUATION

This result suggests to establish a similar result for (6), where the constants in numerators of the fractions $\frac{\lambda}{\log^2 t}$, $\frac{\gamma_p}{t^p}$, and $\frac{\mu}{t^p \log^2 t}$ are replaced by periodic functions.

REFERENCES

- [1] DOŠLÝ, O.—HASIL, P.: Critical oscillation constant for half-linear differential equations with periodic coefficients, Annal. Mat. Pura Appl. (4) (to appear).
- [2] DOŠLÝ, O.—FIŠNAROVÁ, S.: Half-linear oscillation criteria: perturbation in the term involving derivative, Nonlinear Anal. 73 (2010), 3756–3766.
- [3] DOŠLÝ, O.—ŘEHÁK, P.: Half-Linear Differential Equations. North-Holland Math. Stud., Vol. 202, Elsevier, Amsterdam, 2005.
- [4] DOŠLÝ, O.—ÜNAL, M.: Conditionally oscillatory half-linear differential equations, Acta Math. Hungar. 120 (2008), 147–163.
- [5] ELBERT, Á.: Asymptotic behaviour of autonomous half-linear differential systems on the plane, Studia Sci. Math. Hungar. 19 (1984), 447–464.
- [6] ELBERT, Á.—SCHNEIDER, A.: Perturbations of the half-linear Euler differential equation, Results Math. 37 (2000), 56–83.
- [7] KRÜGER, H.—TESCHL, G.: Effective Pr
 üfer angles and relative oscillation criteria, J. Differential Equations 245 (2009), 3823–3848.
- [8] SCHMIDT, K. M.: Oscillation of perturbed Hill equation and lower spectrum of radially periodic Schrödinger operators in the plane, Proc. Amer. Math. Soc. 127 (1999), 2367–2374.
- SCHMIDT, K. M.: Critical coupling constants and eigenvalue asymptotics of perturbed periodic Sturm-Liouville operators, Comm. Math. Phys. 211 (2000), 465–485.
- [10] SUGIE, J.—YAMAOKA, N.: Comparison theorems for oscillation of second-order half-linear differential equations, Acta Math. Hungar. 111 (2006), 165–179.

Received November 15, 2010

Department of Mathematics and Statistics Masaryk University Kotlářská 2 CZ-611-37 Brno CZECH REPUBLIC E-mail: dosly@math.muni.cz haladovah@math.muni.cz